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6. I A sl e feem fam fa mme s | 6 Fighe a1 Kite Festival’ is celebrated
(1) 14 FdaT b | i}y (3uiarat on which day ?
- i Huember
(2) 14 W] [ | N mber
I |4 ehruary
(3) ]"“‘"’i I 4 | {1 tanuary
@) 14 fegam (1 (Il Pyecember
(5) IW AE 2w (1) hgh attempted
. .. , . 7 0 b banchavat, what are the elected
7. T SRR i we w wn ww on b) R HEd CAcgaye
i i be cAallec H
(1) A1E qTEA (99) (1) “ 4t Members (Panch)
(2) HWE (4] @qlpatich
(3) @i (1) @rctetars
"Wﬁ'v.’ 4] FHitheillors
) . ) (i) Myl attempted
(5) SRl <A Amwa
B, |1 il cear was the 7th Economic Census
8.  7di snfeias SEorE fa and fonfor i LHlH e 2
(1) 2021 (1 sH21
(2) 2018 4] 2418
(3) 2022 ‘v' s1ikls)
(4) 2019 (1 2bidg
A = e Ui Hitetn 2
(5) I A & A 7] Ret dttetnpted
S e A Ao . Wht W 54e of the following is India’s Central
9. |=i\1=1|("1i7§cl‘q71m—m Cﬂjﬂmnuhf’.l a"‘,'II‘IVlHﬁ, st il b institution, which controls the
S g T 1 e =ifa et e § sty policy of the Indian rupee ?
(1) A o S (RBI) 'l" Phertve Bank of India (RBI)
) R S (DFS) [ ’*“m Department of Financial Services
: ' ‘[‘(,"
(3) W?ZFWWWW TR AT R B (4 :‘T“"‘iwn! Bank for Financing
(NABFID) . "“‘*"""f‘,!'ucture and Development
(4)  WEH 22 4 (SBI) o \BFID)
e - (S} EY BN }- i .
(5) I AE 2 Awa B N ank of India (SBI)
- ot attempted
10. freAfafaa 5 A faw ar g ol 8/ 10 Faliigs 18 thie ancient
CN—_— 0 > e ancient name of which one of
(1) @2 =nfzon (e deidig e state ? el
(2) dfwerrg : .‘ UHHstal Odisha
(3) FAZE | I T Nadu
) I Raphag
: Natak:
(4) =me - Bfind h
(5) A 2 Awa B NEE dh e
: attempted
TNAVH/ E4 2w ared & 40 2o | SPACE FON i in e
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T T/ Anfaa T R FHF S A

st 1 @ R 2

(1) feraa wew

(2) ¥ UE FVER

(3) UeE

(4) oot

(5) SR oW =Ted

TRe Sfaue § Fa fraa Hifas HfeR E?
:;: :ﬁ “Sovn Te\tah‘”\
(3) = Ehan\Z

@) B

(5) W TEl < 9

13. ‘G wE aRadee MR A A R
(1) TFeam e e
(2) YUl
(3) WUEEE U9 HEF ATl
(4)  TUTEEF SETE A
(5) S @ < 9%d
14. 5% 59 fefatma d A fFa = w dw-Ta e ?
(1) ZHFA
(2) #AFA
(3) TEHA
(4) = U FYHT
(5) FAAE 7 Aed
15. #1 yan @ v 9 fawia afvemdl & aem a
A AF AT T2 TE A 7
(1) EME
(2) =TA
(3) AIE
(4) fazaw
(5) I AR 2 A
TNAVH/E4

11.

12.

13.

14.

15.

2 w1 m §ea0 zena | SPACE FOR ROUGH WORK

Which State/Union Territory is known as
‘Crown of India™?

(1) Himachal Pradesh
(2) Jammu & Kashmir
(3) Punjab

(1) Delhi

(50  Not attempted

How many Fundamental Rights are there in
Indian Constitution ?

(1)  Seven

(2)  Nine

(3)  Three

(4) Six

(50 Not attempted

‘National Rural Livelihood Mission’ has been
renamed as :

(1) Deendayal Antyodaya Yojana

(2)  Annapurna

(3) Pradhan Mantri Gram Sadak Yojana
(4) Pradhan Mantri Awaas Yojana

(5) Not attempted

Rouf Dance is a famous folk dance form of
which one of the following States ?

(1)  Uttar Pradesh

(2) Andhra Pradesh

(3) Rajasthan

4) Jammu & Kashmir

(5)  Not attempted

Who was the first Mauryan ruler who tried to
take his message to the people through
inscriptions ?

('IJ Chanakya

(2)  Chandragupta
(3)  Ashoka

(4)  Bindusara

() Not attempted

Page 4

(¥ Scanned with OKEN Scanner

Visit Website "Sarkaridob.in"



Visit Website "Sarkaridob.in"

16.  HIeTH-1 H T HTIAIS &F W diem-11 § faUm | 16, Match structures given in Column.1 with
Al fqm FHifSQ | functiong given in Column-II.
-1 HICTH-TI Column-I Column-II
(@) W (i) ESEENL (a)  Stomata (i) Absorption of water
(b)  SEEH (ii)  aToeEsi b))  Xylem (ii) Transpiration
(€ TaIH (iii) @ ae & iEes ()  Root hairs (iii) Transport of food
() UYETE (FATE)  (iv) W @ 9REe (d  Phloem  (iv) Transport of water
‘Gﬁ ICETe ER-DEl Hifa | Choose the correct option.
(1) (a)-(i), (b)-(1), (c)-(iii), (d)-(iv) (1) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)
(2)  (@)-(1), (b)-(i1), (c)-(iv), (d)-(iii) (2)  (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)
3)  (a)-(1), (b)-(ii1), (c)-(ii), (d)-(iv) 3)  (a)-(i), (b)-(ii), (c)-(ii), (d)-(iv)
(4) (@), (b)-(v), (0)-(i), (d)-(iii) @) (a)-Gi), (B)-(iv), (€)-(), (d)-(iii
(5) SW T2 <1 =R (5) Not attempted
17. N .ﬁ HFA- .: T 2 17. Which of the following is an antibiotic ?
(1) m (1) Streptomycin
(2) SR (2)  Alcohol
3 T= (3) Yeast
(4) HifeTm aEHEe (4) Sodium bicarbonate
(5) I & <1 =ed (5) Not attempted
18. @EW@?W @TWWWWW@@H 18. Advance sunrise and delayed sunset is
T fros FRU A B 2 because of the phenomenon of : )
W@Fﬁﬁ' R ChE] (1) Atmospheric Refraction of light
() Wﬂmﬂ e (2) Total Internal Reflection
s = : (3) Atmospheric Reflection of light
() mamh h A (4)  Scattering of light (Tyndall Effect)
(4) F®R] (féeat wum) (5) Not attempted
(5) I TE & =ed
lo. femifefa § & 2 @ e T T 2 19. tS}ie;)tH;a:nrglc;n-commumcable disease from
(1) & (1)  Cholera
2) =1 A (o 9eH) (2) Chicken pox
(3) dufe® ( =7T) (3)  Tuberculosis
@) TEE (4) Diabetes
5) 3?‘{:{ = = (5)  Not attempted
20. W fEaa e e ? 20. (Nll;'ilaria is caused by :
Virus
(1) faary (2)  Fungi
@) W (3)  Protozoa
(3) NS (4) Bacteria
(4)  iramy N N (5)  Not attempted
(5) I AL <A1 A
TNAVH Ea o o7l 3 fer zerre / SPACE FOR ROUGH WORK Page 5
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21. Prefafas dd 7 a gr{{'a IBERY, 21. :.\l/]l(jl;uh():r]l)()nf the following does not belong
(1) fem (1) Deer
(2) Ah (2) Yak
(3) REGIEE R (3) Mountain goat
4 fem dgam (= awe) (4)  Snow leopard
(5) IR TG & e (5) Not attempted
22. e gan st fFefatad B fopd TN H T € 2 22. The dough of bread rises because of :
(1) T oA § o (1)  Salting
(2) @ER (FR) ifered # 3 T H (2)  Growth of yeast cells
(3) TEH fame & Fm (3) Fine grinding
4) TIW el (4) Kneading
(3) I TG <A A (5) Not attempted
23. frafafea § 4 9 € 9 5@ FEAFTME T €2 | 23, Identify the non-biodegradable item from the
(1) ¥ == following :
2) Fﬁ'&ﬁ (1) Tin cans
B SAwEE 2) Wood
(3) Woollen clothes
) s (4) Paper
5) SR < e (5) Not attempted
24. @™ T T Fiifh 48 Hae HiH E | o .
. 24. Tiger is a because it only eats
(1) R meat. '
(2) TaRrl (1) Carnivore
(3) Hash (2) Omnivore
(4) IEER (3) Cattle
(5) TRl < =med (4) Herbivore
(5) Not attempted
25. G HA MY T F fAu wgen T @ ¥
AN T 2q 3H FoW T & foru gy 25. Pure gold is not suitable for making jeweller
A94l Toaem s 21 It is al_lo_\‘ed with — or o
(1) i, =it make it hard.for making ornaments.
P (1)  Zinc, Silver
@) ?ﬂi’;, . . (2)  Silver, Copper
) "(;‘, o b (3) Aluminium, Copper
() == 'rmlquzmq (;) Silver, Aluminium
(6 =T T R (5) Not attempted
TNAVH/E4 ¥ @t & feru e  SPACE FOR ROUGH WORK Page’

Visit Website "Sarkaridob.in"

(3 Scanned with OKEN Scanner

aAY



Visit Website "Sarkaridob.in"

11 (ugref )
BT
LI
ELE

~

EHYI

(1) (a)-(u), (b)-(iii), (c)-(i), (d)-(iv)
) (@-(ii), (b)-(v), (0)-(i), (d)-(ii)
(3)  (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(4)  (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
(6) I T T AT ERAN2Y
27. W R FHA T Fo DI W9, foi o v
frefafEa 5 | f59 9ot 3 sfaig e 82
(1) 94
2 @
(3)  STRIE o
4) wmE
(5) ST A oAl Jmed

26.

27.

28.

29.

Match the following :

(a)
(b)
(c)
(d)

I (Objects) IT (Materials)
Shoes (1) Paper

Table (i1) Steel
Notebook (iii) Leather
Tumbler (iv) Wood

Choose the correct option.

(1)
2
Q)
(4)
()

(a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)
(a)-(iii), (b)-(iv), (c)-(1), (d)-(ii)
(a)-(iv), (b)-(i1), (c)-(iii), (d)-(1)
(a)-(iii), (b)-(i), (c)-(iv), (d)-(i})
Not attempted

Short plants with green and tender stem
having few branches belong to the category

of :

(1)

2)
3)
(4)
(5)

Trees
Shrubs .,

. Climber’s

Herbs

Not attempted

When a white light passes through a prism, a
spectrum is observed. Which colour of light
bends most ?

(1)
(2)
)
(4)
()

The blood has

Yellow

Blue

Violet

Red

Not attempted

A

which fight against

germs that may enter our body.

(1)
)
(3)
(4)
(5)

Platelets

Red blood Carpuscles
Haemoglobin

White blood Carpuscles

Not attempted

28. @ e faom § e 1E Y9 Wehme ol € 91 T
gy fear @ g1 feg 1 F e § waitas
FH BT ?
(1) = den
() Hen .
(3) &
4) - @@
(5) SR @l o =ned
29. T § m/mgmqum
(1) e
(2) e = FHoE
(3) fermenfan
(4) v T FHoeT
(5) 3T & = =mEd

o ol 5 fero eairel / SPACE FOR ROUGH WORK

Page 7

(¥ scanned with OKEN Scanner

Visit Website "Sarkaridob.in"



Visit Website "Sarkaridob.in"

Visit Website "Sarkaridob.in"

30. Eﬁ%ﬁmwﬁﬁmgﬁ f H 3 f 33&'/ 30. F;)r t}h'C 1PVIOCCSS of rusting of Iron, the presence
39 of which is required ?
foperent farermaan Smava® © !
a2 - (1)  Oxygen only
__— X (2)  Water and Oxygen both
2) e s it - .
) a (3) Oilonly
3) S (4) Water only
(4) IS (5) Not attempted
(5) SR E oA Amed
. . .. 31. Kunal walks 90 metres towards East. From
31. @ 90 Hiw gd ® HR T €l Fl H =@ there he walks 60 metres back towards West.
60 T I afvem Fi 3R Ted € ) THSF AE T8 T Then he turns right and walks 40 fmetres
- \ - . How far and in which direction is he from his
HSHhT 40 HIE FcAd 3‘| "jg A AT fag 5 starting point ?
et o en form fem 1 2 (1) 40 metres, North-West
(1) 40 Hew, Iw-fe=m (2) 50 metres, North-East
(@ 50 e, IH-4 \id (3) 60 metres, East
(3) 60 H, T (4) 30 metres, North
(4) 30 Hiey, IW Ao (5) Not attempted
(5) TWAG NI Yo > Lo
32. A set of English letters is given below in a
B . 5 . jumbled order. Select the combination of
32. :fﬁ . 31&1’(‘[? .ﬁSHﬁ ‘Wﬁfﬁ?ﬂ'ﬂ?ﬂ numbers so that the letters arranged
¥ HEmsdl & 39 HANE H =99 A o AR accordingly will form a meaningful word.
& o] A FH T UH ol I 91 | E L P 1 o cC
E L P I 0 C 1 2 3 4 5 6
1 2 3 4 5 6 (1) 3,5,2,4,6,1 PolLlICE
(1) .3) 59 2, 4)6,1 (2) 3’ 5’ 2,6,4’ 1 P 0 L_c, 16
: g; Xes 261 @ 345261 PTolLCE
(4) 21.1,574’3)6 (4) 2,1,5,4,3,6 L_T_O‘I_P (_
(5) =W E A (5) Not attempted
33. @ ’f@wﬁﬁ‘a‘ﬁm My 33. Find the missing term in the series.
4,27,16,125,36, 2 64.729 4,27,16,125,36, 2 , 64,729
(1) 216 (1) 216 5 2,3, u* 55\ S b
(2) 343 oy 343
(3) 512 (3) 512
@ 121 @) 121
(5) I TR < T (5) Not attempted
TNAVH/E4 T BTt & fTe e / SPACE FOR ROUGH WORK Page
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o T FETT H ‘PHYSICS’ F1 RIAUKEL® | 34

34. . . ) = e In 5 certain code language ‘PHYSICS’ js
feran STl ?7 @ ‘BIOLOGY’ 1 I8! Favmm § 3 Written a5 ‘RJIAUKEU’". How will BIOLOGY' be
W‘&nﬂ’ll ¢ Written in that code ? P
(1) DKQNQIA M DKONOQIA | ;\ \"S.‘ ‘c‘ = —(;

2 DKOQOOJA (2 Q7 6 825119 3 11 (Y
( BRO ) DKQOQJA AJSAL KEUVL
(3) PQJB (3)  DKQPQJB 1) W S 2
4) DKQMQIB 1€ 1o 1 1
( . (4)  DKQMQIB
(5) I el <1 AR 2. 4 IS v \S 1
(5)  Not attempted
A e . , PkONOIA

35 A B: C\. D, EdH Fﬁf?:m AR e a;za‘.; W‘Tﬁﬂu 35. A,B,C,D,E and F are standing in a row facing
TeE, dfer 3avds el & {6 35 w0 1 2 3l North not necessarily in the same order. ‘E’
F /A §E R A IR B fFmw EARK ek ‘A’ 3R and F’ are in the centre, and ‘A’and B’ are at
A . s S ey S coa . T the ends. ‘C’ is standing on the immediate
FHag N T el ‘B’ & 3 [ W FH gsizg? left of ‘A’. Who is standing on the immediate
() b right of B’ ? A

(ol
- 47 D B DEF CF
() o 2) C a D FE cCcA
(4) R . @) E — 3
(5) SRl <A1 Aled 4 F

(5) Not attempted

36. YA oI 3 A 2l frwrd 1 s faumu ) fam
quﬁm '@13’[%3 ; 9 3 36. Two statements are given, followed by two

fum € w7 W e &, Foi w1 wE s conclusions I and II. Assuming the
ﬁmﬁﬁqmmﬁh% STMYR 9 dehE7Td =9 4 fea statements to be true even if they seem to be
S BEFed E ? at variance from the commonly known facts,
¥/ e $Y¥c decide which of the conclusions logically
YU EEANRNIE] i s"\/ follows/follow from the given statements ?

F9 TTAE AT 2l . ' Statements: Some flowers are roses.
e L - [off T B 1 Some roses are red.

= Conclusions: L All roses are flowers.
0. F9 Fa el

II. Some flowers are red.

(1) Faa freed 11 o €|

(1)  Only conclusion II follows.

(2) frepd 1 TR 11 'q:Fﬁ freerd €1 - (2) Both conclusions I and II follow.
(@) 7 fepd 1 IR A & I\I e &1 (3) Neither conclusion I nor II follows.
(4)  Faa fred 1 fawad 2 | (4)  Only conclusion I follows.
(5) IR TE &1 =@ed " (5) Not attempted
37. fowq s =5 FHIfu | 37. Find the odd one out.
(1) =y (1) Pen
Q) T (2) Eraser
(3) T (3) Book
@) ﬁfﬂ?{ (4) Pencil
5 I T . (5) Not attempted
TN ‘ — % foro 2en1 | SPACE FOR ROUGH WORK Page 9
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RS ¥ARTE P

38.

39.

40.

41.

P’ QY R, ‘S’and T are five persons of a famj,
P and ‘R"are brothers. ‘T is uncle of ‘0,
is the son of T". ‘Q’is the sister of ‘R". How |,
P related to 'S’ ?

(1)  Father

12y Cousin

(3)  Uncle

(4)  Brother

(5) Not attempted

If every second, fourth Saturdays and aj
Sundays are holidays in a 30 days montj
beginning on Sunday, then how man,
working days are there in that month ?

(1) 21days
(2) 24 days
(3) 22days
‘jﬂf)’ 23 days

(5)  Not attempted

Choose the pair of words in which the words
are related in the same way as in the given
pair of words.

Bachelor : Spinster

1]

Horse : Mare

(2)  Nun : Sister

(8)  Tutor : Teacher
(4) Lady:Woman
(5)  Not attempted

Harish bought an old Scooter for % 4,700 and
spent ¥ 800 on its repairs. If he sells the
Scooter for? 5,800, his gain percent is :

'y 5%%
(2)  10%

(3) 12%
(4) 4 - Yo

(5)  Notattempted

- P O

38. Q;“:T::::m,?lo; T”T‘n/"‘T‘ﬂ i‘:-| 3, T
= gt TS A fry yan
Hafa g2
(1) fo
(2) =RU/EEAE
(3)  =TE/HE

' :(41 "
(5) SR Tl o =ed

30. =ft faam & Wy oR 9 fE 30 i & wdm o
verE TR, 919 viigaR qon st AEER 6 sraE @
IS TEa § fead FHfcaq €2
m 2a1fs
2) 24fe -
(3) 22f=
4) 23f=
(5) TR < 9%

40. W Vm-TT H 94 99 v 361 YR getia
T 53 fF fau T ovm-gm A §)
Hfaarfea : wfaafea ’
(1) e
(2) HZafE ;9
(3) =u-fors= : foas
(4) ®feen : 2
(5) = A 29 |wA

41. T A UE T T2 4,700 | wi s e
HEHA 2 800 T fau ) afz ag gy e @)
4 A),d()():ﬂm?mmum%*\w
(1) 5% sges”
(2)  10% "/(:‘
(3)  12% .
(4) 44% e \/\

7
(5) T ARl oA AeA
TNAVH/E4

¥ W14 & o1t 2errr | SPACE FOR ROUGH WORK
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42. & T #, ol A Hen she wrasit ) ey i

4: 5 % A T TA 100 wrand e e by b
% SIA 6 : 7 WM R W o g o
(1) 150Q |

(2 1200

(3) 1000

(4) 1800

§ s

43, TF 30 FETEA 460 T/, &1 A giyql) ofd

! TSk A 15% SE R, @ i i) sy o
AT E,

(1) 26HA

(2) 34.5¥ \\
: Y

(3) 20¥ D
: )

(4) 15T Gr

(5) I @ < Awd

TE wafaa E F 1 w15 7w g e
foa == F = ga & 20 oo @aa ¥ el w9
72138 25 Tz § g w8 il fier qo
%7 A1, 38w F g FwIA H feen e o

(1) Fe6fa

(2) =9 6.4 faq

(3) 7fm=

4) ofmasy

(5) =W 7% 21 A

M2 14 % 627 + J1080 = x? 4 141 & @

Lk

M 505
(2)
(3)
(4)

N

5

(9}

—_—

25
5) 37 w7 71w

o

s wid a feanr zentet 19

A4,

Al

i (1 (he totio ol the number of boys to
i ol prlsis 405, When 100 girls
T (ool the ratio becomes 6 ¢ 7. How
Mg | [here in the school ?
I (Y \\‘. .g
' I ' MELE 6 -
|‘| [ RRIXIR i
Lse
'” 1ulul }“!‘[
‘/l? —
2] fp) ol |n|)((‘(|
i sfe of a rectangle is 460 sq.m. If the

it} |.‘. oo more t]m.n the breadth, then
i1y ong the following is the breadth of
e peefapple 2

{1) 48 [HeHes

[ 4 a0 melres

{4 Ap o pclres

l“ IR FEHES

(4 Mol atlempted

A nitil can do a job in 15 days. His father
fili 44 days and his son finishes it in
e [How Tong will they take to complete
(hi fi4di )l Hhey all work together ?

(1] sedctly 6 days

‘.,. HTHHE dmately 6.4 days
() f HIYS

() o fhan 6 days

() Mk abempted

P V1089 = x3

B

TR ERE + 141, then the

vl HE Y £ 19
I B s
1) 3
5
(1] ([f:)()'\ 1\
(e )
~aw
() M atempted .
\ 1 € 2o
PACH PO e VR . - - Page 11
\‘1 S N
1 —

¢]6

'y
(Cb

(¥ scanned with OKEN Scanner

Visit Website "Sarkaridob.in"



46, F 4, 0,3, 78T A 4-FFTA TH-J 79 5 | 46.
SA-J-11e1 gem FA: © (16 3% v ap @

TR R) :

(1)  3740,3047
L3704

(3) 7430,3047

(4) 4370, 4307

(5) SWTE < Awd

47. T S F MG H S22 3: 4 ¥ 1 T g
F 4, T FR 7R o T HwEi § s g

(1) 4:3:2
(2) 4:3:6
B 6:4:3
(4) 2:3:4

(5) W < =Ed

48. T =T U 10 F91 H T 21 St ¥, @ wreme s | 48.

Visit Website "Sarkaridob.in"

The greatest 4-digit and the smallest 4.q;
numbers formed by the digits 4, 0, 3, 7 (e, 50. |
digit used only once) are respectively :

(1) 3740,3047
(2) 7403,3704
[:z) 7430, 3047
(4) 4370,4307
(5) Not attempted

47. The speeds of three cars are in the ra:
2:3:4. The ratio between the time taken:
these cars to cover the same distance is :

(1) 4:3:2 |L! glg

(2 4:3

'(24 6:4:3 ¢ \‘\ A o
4 2:3:4

(5)  Not attempted

If a sum becomes its double in 10 years, the

Fafiw = . the annual rate of simple interest is -
1) 5% (1) 5% v
| loo =¥ 106

@  10% 27 10%

(3)  20% @) 20%

(4) &% 4 8%

5) T® 7 = 9 (5) Not attempted

52.

49. 50 HEAA A1 A 38 21 Afz 4 wensii 45 an | 49- The average of 50 numbers is 38. It

55 #1721 f2201 |1 1 7 a0 den s o sivga 7 ?V?H]bsrs ?: and 5SS are excluded, then !

- - = av ag

AN numbers ? ‘ q\erdbe o Hhe R

L) 37 ' (1) 37

(2) 375 420 375

(3) 37.52 (3) 37.52

(4) 36.5 1) 365

(5) IWAA 2491 A1 (5)  Not attempted

e ) ' T
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A 3 763,000 T FUE TR 3w i g |(50.) A
g e < 1,08,000 T A B A =R H WA}
e afe ad F 3 W e S waE w0 @, @

fore TG & @] B A WA W2

' (1)
1y 4
2 S )
@ 6 e
@) 3 (4)
(5) ST el <1 = (5)

5

3

Started a business with T 63,000 and i
Joined afterwards by 3 with T 1,008,000, /\fu r
how 11y my months did B join if the profits
the end of (he year are divided equally ?

GN ooo \og 022

1o oo rfls"/"y

Not attempted

——

51. o fafse sl F1L.C.M. 120 &1 fa=r gemeif | 51.  The L.C.M. of three different numbers is 120.

§ {31 9 987 31 dF 9@ 1 H.C.F. & 8l

gl /
(1) 12
@ 24
(3) 35
(4) 8
(5)

I TEI < e

H.C.F.?
(1) 12
(2) 24
2 35
4 8
()

Which of the following cannot be their

Not attempted

52. 7 28.80 Wi frm. ATer 3 T 22.80 W fH. g | 52. In what ratio, rice at ¥ 28.80 per kg and rice

A T s § faemd s aife fagon 1 qea
?25.20 ¥fa fa.m. 219w ?

at ¥ 22.80 per kg be mixed to get a mixture
worth ¥ 25.20 per kg ?

M 23 18 8° R oF =
(]) 2:3 \ /
2) 3:4 y§.20
(2) 3:4 o
(3) 5:3 @) 5:3 3-bo 2+ beo
4 1:3 4y 1:3
(5) =W AE @ 174 (5)  Not attempted
m’ E4 20 e & feo zeet / SPACE FOR ROUGH WORK 1%-§O 1%130
" I?j ’\ {o 1.°
& /L "
~ ’ w
¥ Lhy M
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— ) B 50% ‘bHE 63. 11 10% of (a+b)=50% of (a—Db), thena: bis .
53. A (a+b)F 10% = (@ b) ,Ma:bi of (a+b) of ( ) 1:bis -
W s M52 q,\vbm& = a-b Ry
2) 2:3 () 2:3 -
Ab —a+4b= X
3) 3:2 3) 3:2 Q\b}b <
-
4 1:2 (@ 1:2 o=
, 5 371 e &
(5) ITWT : (5) Not attempted -
54. 8,000 F TR 10% FMF TG A W oy | In h ill f2 8,0
. s . A ow many years will a sum o ,000 at
a-ﬁi\ 0,261 B ST, el DA Haifea 10% per annum compound interest,
Tae? compounded semi-annually become ¥ 9,261 ?
1 1
1 15w g 15 years
8000 . (o\
1
2 2= (2 23 years L“ ‘
’ 2z
@ 2 ! LA
2 (3) 27 years y
1 by |
@ 13 o 1l i S
(4) 3 vears = 6!
(5) Not attempted
§5.  #AME o 3 A1, a9 S 5 A, ammg%s@
M T T frogers 55. A solid metallic cylinder of base radius 3 cm
rary A, 7 ; WWW 0, M 8 g and height 5 cm is melted to form cones, each
s o1 1 ., 2 T4 ThR of height 1 cm and base radius 1 mm. The
74 'JT?‘«TI F1HN T number of such cones is :
(1) 1350 (1) 1350
(2) 4500 (2) 4500
(3) 13500 @F 13500
< [ 1)
(4) 450
(4) 450
(5) ST T g
(5) Not attempted
H/E4 Y ~—
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Select the alternative which best describeg

6- the underlined idiomatic expression.
you may rush from pillar to post, but you
stand no chance of getting what you ;\'ant
without hard work.
(1) rush in all directions and suffer mych
harassment
(2)  go toall post boxes and post offices
(3 gotomany offices and post letters
(4) bevery busy
(5) Not attempted
57. Choose the correct alternative to improve the
underlined part of the following sentence. If
no improvement is required, your answer is
(3)-
You will face many defeats in life but never
let themselves be defeated .
(1) yourself be defeated
(2) yourself be defeating
(3) No improvement
(4)  themself defeated
(S)  Not attempted
S8. Fill in the blank with correct form of Verb.
Time and tide for none.
() waited
) waits
(3) waiting
@) wait
(5)  Not attempted
k
TNAVH E4

59,

60.

61.

Pic

1ck out the correctly spelt word,
0)
(2)

l(:mpcstllOLlS
tempastuous
(3) tempestus

(4 tampestuous

() Not attempted

Pick out the antonym of the underlined word
In the following sentence.

He was afraid of losing the match.

(1)  nervous
(2) shaken
(3) confident
(4) hesitant

(5) Not attempted

Pick out the part of the sentence which has

an error. If there is no error, your answer is
(3)-

The property / was divided /

(A) (B)
among the two brothers
(C)
(1) (B
(2) (€

(3) No error
4) (A

(5) Not attempted
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vive winch best exprvages ¥. Rearrange the following parts of a sen.
ernativ® =" - : o itene,
62. :Zhhoo:c»t? the Z‘t‘ence jnto CINECT Speech labelled as PQRS to make a meaningy,
ol ot sentence.
. t to sit there o X i
He told the boy n° P - optimism is essential
(1)  He said to the boy, H== £ &5 Shem ” O - it is also the
(2) He said to the bov, “Dicn™ st thers - R - foundation of true progress
- Q % oo
. e bov, “Don’t sit hems S - to achievement and
(3) Hesaidto the bog N
B , (1)~ PQRS
(4) He said to the boy, D™ = Qe -
[2)  PSOR
(5) Not attempted ¥
{3l&. RQSP
{4) OSRP
63. Choose the correct passive voins form o =n
following sentence. {5)  Not attempted

He was writing a book.

©C. Find out the synonym of * laim’
(1) A book was being wriren & —e. 3 3 proclaim’.

(1) advance
(2)  He has written 2z booi-

[2)  declare
(3) A book was being wrimen 5w =im
{3) license
(4) A book is written Simn
(4)  progress

(5)  Not attem ted
p {5)  Not attempted

TNAVH/E4
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mmmwﬁaﬁaﬂ@gmﬁ%?
. i) Y . 3T 4 oy wirer 7§ 7' A T T &
2 99 ()t e 7
(3 (2 Fm s
@ . Q) Haiy e
(5) I T e ) i F

> . O) I = T awed
. ﬁqﬁf@ﬁmﬁmnm_mmmﬁ

e iERIED 72. i g areein ¥ for HAEF IIH UF = ¥
) gr@m 1w
2 -
0 o
(4) R .
(5) SR TG <R N ‘
(5) I @ o1 Aed
‘ ! N e‘*ﬂﬂ'?-
” ?ﬁ‘q;mwm% 73. ‘¥7' yerg § 799 96 SAE S00HE U= © -
EZ; el (1) ==
@ =@ @) ot
(4) (3 A
(5) I A <A1 =R (4) forir

(5) S @l & A
69. “TUF SN SiTel &7 g i fag! | el

74. ‘Toa@' W F HANUF STTE A T= T

Tt e 319 ® - . '
(1) Tee =1 TOR AR SHH TR U E, T A (y @
STl \ (2) ‘am'm

2) Mam'—ﬁmaam%aﬂ?{ﬂ’{ﬁmm' 3)

@) nf <nt € g E A fag T E wehd @ ‘

4) ST BTG S & AT T AR F T < (5) IR T & =

5 a-lg% e e e

o s, fauTqarH F fww fawe | fam o7l =1 5@
70. Wnaﬁmu@mmawl & I9gE FAT g & ?

@mmwmwmmwg (1) TFAFAEA!

(1)  wen3wd () gﬂ"‘l,ﬁgﬁé’ﬁrafnu?ﬁ&nq%'fﬁml

() H+TreHa (3) T Y |y 37 FE AQ e

B) WE+3lida 4 FAWSTRGI

) . 6) IO T e

O s CE FOR Page 17
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76. Thom & few fore A e W feora &
(1)  37v=ren
(2)  9HTE
(3) Teaw
(4) A )
(5) I AR o Awd
77.  efeaon T § faer! () TH S § )
(1) 5500 - 6000
(2) 6000 - 6500
(3) 6500 F fHF
(4) 5000 - 5500
(5) S E & =med
78. Tfaon § fag od ' <may 3@ I S5 e
IE T 912
(1) 2017-18 i
(2) 2011-12
(3) 2019-20
(4) 2015-16
(5) W o AR
79. {9 W W favred e SR fom 22
(1) TS
2) FEEE
(3) =
(4)
(5) WA <1 9y
80. A ¥ = F W F Ao san § wee
fafaiiemeo &R s Hem w aw &6 82
(1) 509 57 foxrma
(2) < vl rfvyam
(3)°  9YH T FHE Ao
(4) ufd g2 s waa
(5) T Tl < =Ry
81. =AM F fohe e e fratem i )
(1) 10
2 11
(3) 12
4 9
(5) W TE <A1 =Ed
TNAVH /Ea

76.

77.

78.

79.

80.

81.

In which district of Harvana is Tilvar Lal,
located ?

(1) Ambala

(2) Panipat

(3) Rohtak

(4)  Kaithal

(5) Not attempted

How many (approximately) Village Panchavats
does Haryana State have ?

(1) 5500 -6000

(2) 6000 - 6500

(3)  more than 6500

(4) 5000 - 5500

(5) Not attempted

In which year was “Deenbandhu Harvana
Gram Uday Yojana” launched in Harvana ?
(I) 2017-18

(2) 2011-12
(3) 2019-20
(4) 2015-16

(5)  Not attempted

Where is the Heritage Transport Museum
situated ?

41) Gurugram

(2)  Kurukshetra
(3) Karnal

(4) Rewari

(5)  Not attempted

Which scheme launched recently focusses on
crop diversification and water con servation in
Haryana ?

(1)  Mera Pani Meri Virasat

(2)  Jal Shakti Abhivan

(3) Pradhan Mantri Samman Yojana

(4  Per Drop More Crop

(5)  Not attempted

How many Lok Sabha constituencies are there
in Harvana ?

¢) 10
(2) 11
3 12
@ 9

(5)  Not attempted
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. (1) T
2) LREEI
(3) 'rTTFﬁa
(4) CEES!
(5) mqﬁé’mmﬁ
g5, AT TR A 0 e s s e
fe@g?
(1) T
@ &=
(3) T
(@) gHd
(5) S TRl <1 R
84. @‘Iﬁmmmgwﬁﬁw-nﬁ
gimfem foet & e ghfaa #ifs)
e - 1 eI - 11
(a) THIGTETE ()
(b) TEIH (i) =@ TR
(¢ Teah (iii) Te=TE
(d A (iv) T

% fou T FTe F1 ITAN F §L WA W AT :

(1) (a)-(ii), (b)-(iv), (c)-(i), (d)-(i1)
2) (a)-(iv), (b)-(ii), (c)-(ii), (d)-()
B)  (a)-(iii), (b)-(iv), (c)-(i), (d)-(i)
[4)  (a)-(iv), (b)-(iii), (c)-(i), (d)-(i)
(5) SRl o =

85. T 1 gATeA, forary efan 1 g0 T 6 &1 H
g fepan, for &1 g2 2
(1) 1962
(2) 1965
3) 1966
4) 1961
(5)

82.

83.

84.

85.

, H s 1 . -
Where is Chor Gumbad situated ?

(1)
(2)
)
(4)
(5)

Gurugram
Faridabad
Narnaul
Palwal

Not attempted

Where ig the most important Centre of
‘durrie’ making located in the State of
Haryana ?

)
(2)
(3)
(4)
(S)

Panipat

Sirsa

Bhiwani
Sonipat

Not attempted

Correctly match the Administrative Divisions
in the List - I with the Districts included in

the List - II.

List - I List - II
(a) Faridabad, (1) Panipat
(b) Gurugram. (ii) Charkhi Dadri
(c) Rohtak V/Uii) Mahendragarh
d Karnal.’ '\ fiv) Nuh

Select the correct answer using the code
given below :

(1)
(%)
@)
(4)
()

(a)-(iii), (b)-(iv), (c)-(i), (d)-(i1)
(a)-(iv), (b)-(iii), (c)-(i1), (d)-(1)
(a)-(iii), (b)-(iv), (c)-(ii), (d)-(1)
(a)-(iv), (b)-(iii), (c)-(1), (d)-(ii)
Not attempted

The reorganisation of Punjab that established
Haryana as a full-fledged State, took place in
which year ?

(1)
(2)
(3
(4)
()

1962
1965
1966
1961
Not attempted
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86. F . 7 gkl . i ”Wﬁtﬁm 86. Where in Harvana ‘Geeta Jayanti Mahotsa
yfa S el ‘

is celebrated every year ?

ST & 2
(1)  Surajkund
(1) JEFTe
(2) fasim (2) Pinjore
(3)  Sultanpur
(3) Heargl
@) FEEA (40  Kurukshetra
(5) WG o =ed (5) Not attempted

87. T eftamn &1 I A g = Tg&fg % | 87. Whois known as the Shakespeare of Harvana

and Suryakavi of Haryana ?

FY H S S € ?

(1) vfeq @A (1) Pt. Mangeram

(2) aiea (2) Banshilal

(3) TWige A (3) Ramsingh Nai

(4) == EEd Eg (40 Dada Lakhmi Chand

(5) Not attempted

(5) 3T N =med

88. EfMN F1 g gl T ? 88. Which is the State Bird of Harvana ?
(1) £ (T2 gHfaa) (1) Great Hornbill
(2) HRAE T=IE (2) Indian Bustard
(3) Teuret 5@ (3) Himalavan Monal
(4) v Hapifer (4) Black Francolin
(5) I Tl <1 9Ted (5) Not attempted
89. A Wil Yok, ST X SR @ o7 swedi | 89, Where is the National Academy of Custom,
el g § 2 Indirect Taxes and Narcotics located ?
(1) Tea® . (1) Rohtak
2) fear () Hissar
(3) HEER (3) Faridabad
(4) gEF (4) Panchkula
(5) TR TE 9 (5) Not attempted
90. i@ T FaifHEF T arer el Al ¢ 7 90. Which is the most populous city of Harvana ?
(1) TEIH (1) Gurugram
(2) THIRER (2) Faridabad
[ (3) Panchkula
o fo -
(5) I @l <A1 =Ted (5) Not attempted
W/—E“ % B & ferp zeme / SPACE FOR ROUGH WORK Page 20
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Q1. WAl HAHT EEl wifet B H TEETd wen @ | 91. Mata Manga Devi temple is home to which
FAT @EI T ? form of contemporary art of Harvana ?
(1) dwef el B Worli Art
(2) fufaf=a (2)  Bhiti Chitra
el 9) " Dhokra
) (4)  Pattachitra
(4) g , 5 (5)  Not attempted
(5) I AE & e
. 92. Consider the following statements :
ﬁmmqufaanﬁm; r the fo :
92. ¥ oferm 19w v et (a) A Police Range in Haryana is headed by
(a) gfagom 7 9 e &F?R an officer not below the rank of
TeifFeus 9 9 98 F \iﬂﬁm EEARGIES Additional Director General. |
(b) gﬁ-arunuq?agﬁmiazl (b) There are five Police Ranges in
Iqfa § 4 ®E A FHAAGE/T ? Haryana. .
= :qg / / Which of the above statement/s is/are
(1) .(b) . s correct ?
2) (a) 3R (b)\?T:ﬂn (I) (b)only
(3) ATl (a) HARAE (b) (2) Both (a)and (b)
4) Fad (a) (3) Neither (a) nor (b)
(5) ST <A e (4)  (a) only
" (5) Not attempted
93. wHEN FI gfte & Tfmn w1 vrd 0 FH-H1 M
7 93. In terms of population size, Haryana comes
(1y 17 at what rank in India ?
(2) 18 y 17
(3) 19 (2) 18
(4) 16 (3 19
(5) IR A < =R (4) 16
04, frefafad § § eRamn &1 wHE e T F (5) Notattempted
s m{ 713';} %? 94. Which one of the following districts of Haryana
(1) does not share border with Rajasthan ?
2 fart (M Rohtak
(3) e (2) Bhiwani
(4) o . (3) Mahendragarh
e (4) Sirsa
®) R - (5) Not attempted
95. T eI 3 T T ¥ 3R T v e % A e
=1 Fel Tt fran iR 1857 # 3l % WY IS | 95, Where did Rao Tularam, along with Rao Gopal
a2 Dev and Rao Dhan Singh organise the Ahirs
) and fought.against the British in 1857 2
(1) S (1) Ambala
(2) TR (2)  Jhaijar
(3) e (3) Rohtak
(4) THER fFen (#  Nasibpur fort
(5) SWAE < =ed (5) Not attempted
TNAVH/E4 <% @7 3 fero TaTe / SPACE FOR ROUGH WORK Page 21
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el T 1] SAR (W)%aﬁﬁﬁﬂfﬂf@ﬁ

96.
o W R @I
(@) e @ SHgEstd, T & S |
2
(b)  efEmm Segetd T ¥ o 3
FAE
frfefas § @ -/ A ER R/
() FEa®
(2) (a)ﬁl(h]\?:ﬁi
3) 3@ (a) ARAR (1)
) F9d (@)
(5) I Tel <A1 Hed
Q7. YRGE UF HE WHd a9 wid) IS FE rafeg § 2
(1) ST=A
(2) WHd
(3) W@
(4) S
(5) SWTEMERY B
og8. fr=fafea § | wfamn &1 sFe e g sw #
fem ®2 '
(1) ¥=Fen
) To
(3) ‘FuS
(4) FTTR
(5) T el <A1 = ed
99. fi=fafEa FyuFi W faur =ifaw :
(a) e 3 oS 2R Y E ST
(b) TN 3 vEwar St 2T St
=qdF H A FH A T W e/
(1) %5 (b)
(2) (a)_ain (b) ?Fﬂ
(3) A (a) FAA (b)
(4)  Fa (a)
(5) = A 21 =
100. #framn F frafafad faefed 4 @ f@m 2020 A
B AT 7 13 T QR Siar 417
(1) faqor wmme _
(2) e E‘Ao‘ﬂ'),\,
(3) e Fwm |
(4) faa=z fuz
(5) W T A AwAa
~r00o0-
TNAVH/E4

Consider the following statements about Gross,

State Domestic Product ((:"S“I') :

(a) GSDP of Haryana is less than that qf
Punjab. .

(b)  GSDP of Haryana 1S less than that qf
Rajasthan. .
Which of the above statement/s is/are

correct ?

(1) (b)only

(2)  Both (a) and (b)

(3)  Neither (a) nor (b)
(4)  (a)only

(5) Not attempted

The only surviving steam Loco Shed in India
is in :

(1) Ambala

(2) Sonipat

(3) Rewari

(4) Panipat

(5) Not attempted

Which one of the following is the
northernmost district of Haryana ?

(Y Panchkula

(2) Kurukshetra

(3) Kaithal

(4) Yamunanagar

(5) Not attempted

Consider the following statements :
(a) Haryana has never won Ranji Trophyv.
(b) Haryana has won Irani Trophy once.

. Which of the above statement/s is/are

correct ?

(ly  (b)only

(2) Both (a) and (b)

(3) . Neither (a) nor (b)
(4)  (a) only

(5). Not attempted

- Who among the following players from Haryana

won Major Dhyan Chand Khel Ratna Award
20207

t1)  Vinesh Phogat

(2)  Deepa Malik

(3)  Sushil Kumar

(4)  Vijender Singh

(5)  Not altempted

~-00o0-
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